9.4 Derivative Formulas

Saturday, May 21, 2022 7:50 PM

$$f(x) = 0$$

$$f(x) = f(x) = 0$$

$$f(x) = \sqrt{707} - \frac{1}{1500} + 2020$$

$$f(x) = 0$$

$$f(x) = 0$$

$$f(x) = 0$$

$$\begin{aligned}
\xi(x) &= -\sqrt{2} \times \Rightarrow f(x) &= -\sqrt{2} \\
g(x) &= 7 - x \Rightarrow g(x) &= -1
\end{aligned}$$

$$(3) f(x) = x = f(x) = n x , n \in \mathbb{R}$$

EXP (A) 
$$y = x^{15}$$
 (B)  $y' = 15 x^{14}$ 

(3) 
$$h(x) = \frac{1}{x^5} = x^5 = h(x) = -5 x = \frac{-5}{x^6}$$

© 
$$Y(x) = \sqrt{x} = \sqrt{x'} = x$$
  
 $Y'(x) = \frac{1}{4}x' = \frac{1$ 

7 VX

(a) 
$$P = \sqrt{3^3} = 9^{\frac{3}{2}} \implies P = \frac{3}{2} \frac{3}{2} - 1 = \frac{3}{2} \frac{3}{2} = \frac{3}{2}$$

$$(y)$$
  $f(x) = K g(x) = f(x) = K g(x)$ 

$$f(x) = K g(x) = + (x) = K y(x)$$

$$f(x) = K g(x) = + (x) = K y(x)$$

$$f(x) = \frac{12}{6} x^{2} = -\frac{14}{3} x^{2}$$

$$f(x) = \frac{12}{6} (x^{2}) = -\frac{14}{3} x^{2}$$

$$f(x) = \frac{7}{6} x^{2} = 7 x$$

$$f(x) = \frac{7}{3} = 7 x$$

$$f(x) = \frac{1}{3} = -\frac{14}{3} = -\frac{14}$$

$$h'(1) = \frac{-14}{3\sqrt[3]{5}} = -\frac{14}{3}$$

$$f(x) = h(x) \pm h(x)$$

$$f(x) = h(x) \pm h(x)$$

$$f(x) = h(x) \pm h(x)$$

Find 
$$0 \frac{dP}{dq}$$
 if  $P = \frac{1}{2} \frac{q^2}{q^2} + 3q + 7$   
 $\frac{dP}{dq} = P' = \frac{1}{2} \frac{Q(q)}{q} + 3 = q + 3$ 

$$\frac{dP}{dq} = P = \frac{1}{2}(x)q + 3 = q + 3$$

$$P(2) = 2 + 3 = 5$$
Exp Find Dy if  $y = 12x^3 - 5x^2 + 3x - 1$ 

$$y = 12(3)x^2 - 5(2)x + 3 - 0$$

$$y = 36x - 10x + 3$$

$$y = 36x - 10x + 3$$

$$(x_0, y_0) = (1, y_{(1)}) = (1, q_1)$$

$$(x_0, y_0) = (1, y_{(1)}) = (1, q_1)$$

$$y = y(x_0) = 12 \quad 1^3 - 5 \quad 1^3 \quad 1^{-1}$$

$$= 12 - 5 + 3 - 1$$

$$= 12 - 5 + 3 - 1$$

$$= 12 - 6 + 3 - 1$$

$$= 12 - 6 + 3 - 1$$

$$= 12 - 6 + 3 - 1$$

$$= 12 - 6 + 3 - 1$$

$$= 12 - 6 + 3 - 1$$

$$= 12 - 6 + 3 - 1$$

$$= 12 - 6 + 3 - 1$$

$$= 12 - 6 + 3 - 1$$

$$= 12 - 6 + 3 - 1$$

$$= 12 - 6 + 3 - 1$$

$$= 12 - 6 + 3 - 1$$

$$= 12 - 6 + 3 - 1$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12 - 10 - 10 + 3$$

$$= 12$$

Exp Find 
$$\hat{q}$$
 if  $q(x) = \sqrt{x'} - \frac{1}{2} + 4x$ 

$$\frac{1}{\sum_{x} x^{2}} Find g \text{ if } g(x) = \sqrt{x^{2}} - \frac{1}{x^{2}} + 4x^{2}$$

$$g(x) = \frac{1}{2} x^{2} - (-2) x^{2} + 4(3) x^{2}$$

$$= \frac{1}{2} x^{2} + 2 x^{2} + 12x^{2}$$

$$= \frac{1}{2} x^{2} + 2 x^{2} + 12x^{2}$$

$$= \frac{1}{2} x^{2} + \frac{2}{x^{3}} + \frac{2}{x^{3}} + 12x^{2}$$

$$= \frac{1}{2} x^{2} + \frac{2}{x^{3}} + \frac{2}{x^{3}} + 12x^{2}$$

$$= \frac{1}{2} x^{2} + \frac{2}{x^{3}} + \frac{2}{x^{$$

Find points on 
$$f(x) = \frac{x^3}{3} + \frac{x^3}{2} - 2x + 3$$

where  $f$  has horizontal tangent

$$f(x) = 0$$

$$\frac{1}{3}(x) \times \frac{1}{4} + \frac{1}{2}(x) - 2 = 0$$

$$\frac{1}{3}(x) \times \frac{1}{4} + \frac{1}{2}(x) - 2 = 0$$

$$\frac{1}{3}(x) \times \frac{1}{4} + \frac{1}{2}(x) - 2 = 0$$

$$\frac{1}{3}(x) \times \frac{1}{4} + \frac{1}{2}(x) - 2 = 0$$

$$\frac{1}{3}(x) \times \frac{1}{4} + \frac{1}{2}(x) - 2 = 0$$

$$\frac{1}{3}(x) \times \frac{1}{4} + \frac{1}{2}(x) + \frac{1}{3}(x) = 0$$

$$\frac{1}{3}(x) \times \frac{1}{4} + \frac{1}{2}(x) + \frac{1}{3}(x) = 0$$

$$\frac{1}{3}(x) \times \frac{1}{4} + \frac{1}{4}(x) = 0$$

$$\frac{1}{3}(x) \times \frac{1}$$

$$= \frac{1}{3} - \frac{1}{2} - \frac{2}{3} + \frac{1}{3}$$

$$= \frac{2}{6} - \frac{3}{6} + \frac{6}{6}$$

$$= \frac{2}{3} + \frac{3}{6} + \frac{6}{6}$$

$$= \frac{3}{6} + \frac{3}{6} + \frac{3}{6} + \frac{1}{6} + \frac{1}{6$$